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20120a60A 13V AVA36CT p3Ri»Ta0 |U3Eant v=3Ai3| USEafit
aA=-| Uce=3YTi=t | AsU=v=T=- N=2U=17»E¢ A=U=y=T=-
-figd | AsU3y=- Biig3Y AYA=36CT Biig3Y
A- | T=3RAc3Y UGe=3Y1l=¢
lasy Asysys-
Y»fi T=Br¢=Y
1 2 3 4 5 6
1 [°oT30a5Y»f 4d TI3YuC 2&3Nar=-natAl=y - 1ar 46,976 118,243 413,017 516,943
1.1 [CT3U&TY»A SE3NATS - A3 Tx3AY»fiCo 43 46,843 116,534 55,724 150,372
1.2 [2T3U450Y»h UCCYan1= Ix3AY»ACo 44 - - - -
1.3 (21304 Y»A N3U33843N413 - ia0Y»ACo 836 T»ECu 45
N=1456450Y»ACO j ) ) )
1.4 [CT3U&TY»A I»A32&3NaT=-Aa0Y»AC ET36T»ECU 46 133 805 352,286 355,047
N=31ai6aiUY»ico
1.5 [°T3U4mY»h sdiuna- 36C30Co 47 - 882 4,913 10,564
1.6 |20 >T304 Y»f 48 - 22 94 960
2 |oT304m Y»ii 103Y0C 3a3Nai3-naiAl3yY - 1ai - - - -
2.1 [213U&m Y»h 3A3NATS - A3 Tx3AY»AC0o 49 - - - -
2.2 |21=30450 Y»fi UCCYAR1=3 ix3AY»fico 50 - - - -
2.3 |oT3045mY»fi N3U33&83N4T3 - A0Y»ACO W36 T»ECU 51 - - - -
N=wai6asUY»ico
2.4 |°9T30aFmY»fi 1»A==a=Nai=-Aa0Y»fiCo eW=01»ECu 52 - - - -
N=wai6as0Y»Aco
2.5 |OT30a5n Y»i éaiuia- 36C30Co 53 - - - -
2.6 |20 »T=20a50 Vi 54 - - - -
o130 Y»i S&3NaT=3 - AST3Y &A3N4ieTY»MiC
3 |i=T=13/041C6 - 1A=Y6 Y F=1»6aiUCe 819,912 | 1,476,907 379,892 | 2,591,846
3.1 [OT3UainY»fi T3 131 3A3NAT3 - A3 T X3AY»fiC 55 153,668 513,045 258,328 1,226,247
&3Naie e N3T323/0450C0
3.2 |OT30a5mY»fi &3N3YeY»AC (TY36C) &3NaEC 56 12,516 62,761 56,215 165,266
N=T=237/0460UC6
3.3 |OT30aFTY»fi USA»USTCIST3Y A3NAETC 57 - - - -
N=T=237/0460UC6
3.4 [°T=0a5mY»A S&3NaT=-AST3Y 3 A3NaeTY»AC 58 - - - -
N=T=237/0460UC6
35 [°T30a5Y»A 41263131 3430ai3 - A3 Ix3AY»AC 59 67,628 310,170 51,669 234,203
&34 wco M»i=383Nai=-Aa0C pSAYC YI3u»oU3Y
-Tai
3.6 [CT3UaITY»A A3N3YCY»fC (Y38Y»AC) &3NasewCo 60 586,100 590,931 13,680 966,130
i»A3383041= - Aa0C p2AYC Vi3k»oU3Y - Tai
3.7 |oT3045w Y»f USA»U3TCIST3Y &3Na06TCo 61 - - - -
i»A3383041= - Aa0C p=AYC Vi3k»oU3Y - Tai
3.8 [OT30aiTY»f 3t 2&3Na1=-A3T3Y A3Naie T Y»fCo 62 - - - -
i»A3383N4i=-na0C u=AVC YT3moU3Y - Tai
BEa»A a3 1IBYHC BA3BNAT2- AaiAIBY - 1AT
4 | I13Eé»xf ai IIBYug 2a=3Nai=-fiatAl3Y - 1ai (19,862) (54,644) (387,915) (454,487)
4.1 |D=3Tai6aiUY»A 41002 1¢ SA3NAT=S - ialAI3Y 63 (6,722) (22,110) (372,015) (409,529)
a3(0=3Y=3-f»AC - Tai




4.2 [p=Tas64i0Y»i RBU3383NAT= - AAIAISY 64 - - - -
A3(USY=-f»AC - T4l

4.3 [D3T4064UY»A I»A33A3NATS - AaiAl3Y 65 - - - -
A3(USY=-f»AC - Tai

4.4 [1=3Eé»n 343Nai=-A=13Y UCcYan1Y»iC - Tai 66 (3,334) (8,105) (4,735) (11,425)

45 |T3Eé»f i»i3383NaT1=-Aa0Y»ACY —aE3YOT»ECU 67 (9,011) (21,256) (10,808) (30,833)
SA3Na1=3- A3 Ix3AV»AC - T4l

4.6 |20 ISEé»i 68 (795) (3,173) (357) (2,700)

5 |[I3Eé»fi 1U3YUC 383Nai3- ialAl3Y - 1ai - - - -

5.1 |D3Tai64iUY»A 450031C SA3NATS - fAiAI=Y 69 - - - -
A3(U3Y=-f»AC - T4l

5.2 [p3Tas6ailv»i NBU3383NaT= - AaiAISY 70 - - - -
a3(0U=3Y=3-f»Ac - T4l

5.3 [D3T4ai64UY»A I»A33a3NAT=3 - AaiAl3Y 71 - - - -
a3(U=3Y3-f»AC - T4l

5.4 |13Eé»f 383Nai=-A3T3Y UCCYAR1Y»AC - T4l 72 - - - -

55 |I2Eé»f i»i3383Nai=-Aa0Y»ACY ~aE3YOT»ECU 73 - - - -
343N4i=3-A3Tx3AY»AC - Tal

5.6 |20 I3Eé»f 74 _ - ” -
I13Eé»h 383413 -AST3Y &3Na8TY»AC

6 O 3TaRU3Y - TaT (818,124)| (1,449,289) (341,346)| (2,442,765)

6.1 [I2Eé»n ai36 w3131 S43Nai3 -3 1x3AY»AC 75 (218,794) (799,367) (281,543) (1,320,554)
&=Na6ewc 021403y - Tai

6.2 [I3Eé»A A3N3YcY»AC (1Y38Y»AC) &=3NasenC 76 (599,330) (649,922) (59,803) (1,122,211)
O 3ianu3y -1ai

6.3 |13Eeé»i U3MUSTCIST3Y &3N48wC 0 S T4AU3Y 77 - - - -

6.4 |I3Eé»h 3k 3&3NaT3-A3T3Y A3NaeTY»AC 78 - - - -
0 =1aAu3Y -Tai

7  |[2&3Nai=3-nasAl3Y - 1ai R3NajA (TY38) 28,902 91,217 63,648 211,537

8 |vaim walae3ICyY »IBVa (1Y38) 35,996 109,595 26,717 71,060

8.1 [TaTae3(CY »I3VaiwY»ii ST3YLY»fC 79 36,144 109,743 26,717 71,060
+—aE3640A040YY»AC - T4l

8.2 |Tal4e3(CY 13 Eé»fi ~aE3640AIAIYY»AC - T4T 80 (148) (148) - -

8.3 |2l warae30cy »T=30a5wY»h 81 - - - -

8.4 |20 warae=3icy 13Eé»i 82 - - - -

9 |va0 43 Walaé3(CY »IBUATT (TY38) 11,483 111,587 63,218 210,498

9.1 [2& TAST3Y YA3T31Y»Rai a3Nia0 SAA»A0A»ACH 83 - - - -
a0 R3NalA/ TY=e

9.2 [13x=3¢0C N=3U=7 USTirEC SAA»A0A»ACH 1Al 84 - - - -
R3NasIA/ TY=8

9.3 [BCYa USAUSY ASUT» 1A A3NT40 SAA»AOA»ACS a6 85 - - - -
R3NasA/ TY=¢

9.4 |20k 3Y03Y6 T3YAY31AST3Y TBACT3t4U 86 - - - -
Y»ALA&IUY»ACO » T 3UAT Y »i

9.5 [20f »T3VamY»h 87 11,483 111,587 63,218 210,498

9.6 |ZTWCTY»AC NY3A= T4 TaRaie wY»ACY T3 W3AT40 wain | 88 (1,436) (1,170) (2,631) (5,923)
N=1T36400Y»A

9.7 |AYIN3Y4&iR 135313 ISEé»i 89 (42,257) (100,036) (21,632) (72,281)

9.8 |20k ISEé»f 90 (49,280) (196,259) (2,134) (36,916)

10 [P3NailA/ (TY=2€) N3iil4iUCo 2é3¢ (16,592) 14,934 129,817 377,975

11 |p3N&AASN3AIC - 147 I3 Eé (-4EN3T46645U) 91 3,687 (731) (23,221) (74,307)

12 [P=3NailA (TY=28) N2AT4iUCO N»wa (13,005) 14,203 106,596 303,668

13 [P3RI3A1T=1 R3NSUSACYY»A, 30t ATail - - - -

13.1[3AraYi3t uy3Av»1ale»iC - Tai - - - -

13.2 [8a1an=313Y p3AV»Tale»ic - 1ai - - - -

13.3|U»T p=3AY»walecy AYTYA0 u3%3(CY R=NailA 92 . . . .

13.4 [U»T u3AY»Tauecy AYTV40 Yaen=361=1 R3NadlA 92 - - - -

14 [ap=3RET31 R3N4GIA (13,005) 14,203 106,596 303,668
233ai=-A3T3Y AYT»RaiAI3Y -anT310A WYaf»Y
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